resx A = HARERERE (et ERR=H2—-4-1)
B E B:FR26F11A138 (K)

B 7E BRYRRERS : 14R5544)
X x:HEh

Al E 2% () ESEMERT PA—1000 Radi
BAIESR B 70hAT0hIL (B ETCS—172B
BIFEBAL:y Sv./h

____________________________________________________________________________________________

KB R (BE) 22T

|RAIELTI0054A—RLIDHBIELET , 72720, 10.054— L D BIEFERA[0.20p Sv./h]LUETHOI=IHE |

HEMA—ML DM R LBIELET

v A= X('ﬂsl.l':f)ﬁ EE | BAEE | BARLBAOME
@D |GBYA) O-E’if_?;:b 0.067
@ |(FF>a) 0??—:;),[/ 0.044
= 0.05A—hJL 0.040
OIS 0ot
@ |(kEx%) 0.05A—Fk)L 0.047

1X—kIL




